MAC 2312 (Calculus II) — Q,y
Test 2, Monday November 25, 2013

PID:

Remember that no documents or calculators are allowed during the test. Be as precise as possible
in your work; no credits will be awarded to unexplained answers. Do not cheat, otherwise I will be
forced to give you a zero and report your act of cheating to the University Administration.
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1. [10] Use multiplication to find the first three nonzero terms ufb-he \l:g:glurin series for f(z) = e* sinz.

= 4 . = <
& = |+—xz+?.‘__+..,., € = -~ |
2 k:o .
s Je 2k
e g £ eyl
Sy = x — X "o SRR I L e
& Tz0
" “13 =¥ )
o~ S’vaL ——(l o *’2‘ - - )(‘1" -Z—*’ T30
3 s
N . T L
4 120 £ 2
= = +_.‘2_.. '§+ ._K.Lxg-f"oob
[20
2. [10] Find the Taylor polynomial of order four for f(z) = cos(x/3) about z =
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[10] Decide whether each statement is t: ue or false
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b
es i = .r3 22 +y =1, and find its area.
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6. [12] a) Find the exact length of the arc of the pammetu( (lll\'P.r—C()\ (2t), y = sin(2t), 0<t< &.
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b) Find the volume of the solid that results whe
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7. [10] Determme the rad:us of convergenw and the interval of convergence of the power series Z (=l e k81
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8. [6] Use the integral test to de(‘lde w hethcr the infinite series Z: ok
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9. [8] Show that the series Z (
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satisfies the requirements of the alternating series test. Find a value of n for
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10. [8] Use the comparison test to determine whether the series Z converges or diverges.
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11. [8] Write the n'" partial sum of the series —————— a5 a telescoping sum, and use it to show that the
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